LIA} &2 71550 U=
n|Z3 {E 0|23,

=25 *a““/lila o|Ofx|

EF2| AP

e

Rost
froei

© HEINRICH KIPP WERK GmbH & Co. KG

2ZE|QIZI A AR OIHA S8, H=HH Y

ks

HE &Y. )
oA EHXE Moz Qs &F fIx|7t Hat

= A
2|3 A+ E L &2 HHE 180° E2|H &2 Elo| M
) 2 Z

Ha fIRIE HEY + A Fuch

Kinn

2}
04| "785|01 = Eo| Hel /IXIZ Sot2 YElE /XISt S FfLich

THE!:

ZH=2 H} 1.4308.

LIAb &2/ & &2 £ 1.4305.
orad A2l 1.4310.

PA d7IAM &2 Hb 2.

LIAF 22 7|5 Z2(ol0|= mtEkAy,

=M opa):
LIAF&2|5, ¢3d A2

y =H T ——O
KI-:I. _u.| o=||:||. al XI-O _-|I |:||._|f'_ |
|.o|=o|- AH77I-o| KI-:L l:||- '=||-|

o
¥
ro
z
Ja}
il
o

- 22 3|A RAL 7021.
- TEM RAL 2004.
- B2 2 RAL 1021.
- A3 5 Wz A RAL 3020.
- Al =M RAL 6032.
- 43S mEhA RAL 5017.
- Q48 3|4 RAL 7035.

[— K]
M= HE 180° 2™ &
-'-'-E|.AE| ;"E-I KI-:L I:||- 5|'=II4
27"%E|Eh xal H=x

lo| Hell /IxIZ2 Sot3.

I
—
Metet & gLt

X2 AHSELICH

021 W oj

*E* Al A,

HMIA{E]:
Eo|A 2E K0638.
ZX|MY '='¢3' K1290.

s M.
Et AP: 22 H 24 0|2 &, LHE 0|2 &

www.kipp.com - info@kipp.com 1/2



°
X 3 ol— AFIIO A AEI ClIA = —1
LI ZHS 7150] Qs AH|QIHA AL Q1A SR, Z3 o Y
— — o
n|=Zgl L{E o|xE &l E}2] AP
=N
L1
r———
| !
|
K= e
Swi
9 |
w
b
V)| od%
D1
7\ |
N ] =
| by
Z= 20
FEHS Eh e ELIET D D1 D2 L L1L3 B BT H SW1 Fx30° A% EHd
Et M e
F1 25 N F2 2. N
K2115.1940410 AP ECtAE oI, FIREH LHE gig 4 M10 103852515 9 3 6 10 1 8 14
K2115.1940510 AP EZ0tAE I8, FIRE| HE Q18 5 M10 103852515 9 3 6 10 1,3 8 14
K2115.1940610 AP ZotAE IS, FIR2E HE QI8 6 M10 103852515 9 3 6 10 1,8 8 14
K2115.19404101 AP ECtAE i, 7IREH HE gig 4 M10x1 103852515 9 3 6 10 1 8 14
K2115.19405101 AP EoAE IS, FIRE| HE §ig 5 M10x1 103852515 9 3 6 10 1,3 8 14
K2115.19406101 AP ZotAE H IZ, IR2E HE QI8 6 M10x1 103852515 9 3 6 10 1,8 8 14
K2115.1940512 AP ECtAE i, FIREH LHE @18 5 M12 12474301910836 8 12 1,3 5 15
K2115.1940612 AP EoAE S, FIRE| HE Qg 6 M12 1247,4301910836 8 12 1,8 5 15
K2115.1940812 AP ECtAE  Qig, 7IREH LHE gig 8 M12 12474301910,83,6 8 12 2,3 5 15
K2115.19405121 AP ECtAE oIS, FIREH LHE @18 5 M12x1,5 12 4743019 10,8 36 8 12 1,3 5 15
K2115.19406121 AP EoAE I8, FIRE| HE Qi3 6 M12x1,5 12 47,4 3019 10,8 36 8 12 1,8 5 15
K2115.19408121 AP ECtAE oI, 7IREH LHE gig 8 M12x1,5 12 4743019 10,8 3,6 8 12 2,3 5 15
K2115.1940616 AP ECtAE oI, FIREH HE gig 6 M16 16 61,24026 14,4 4810 16 1,8 15 35
K2115.1940816 AP EoAE S, FIRE| HE 88 8 M16 166124026144 4810 16 2,3 15 35
K2115.1941016 AP ECIAEI H US, FIIREILHE Q2 10 M16 16 61,24026 144 4810 16 2,8 15 35
K2115.19406161 AP ZotAE  QIg, FIRE HE QI8 6 M16x1,5 16 61,2 4026 14,4 4810 16 1,8 15 35
K2115.19408161 AP E0AE g, FIRE| HE §ig 8 M16x1,5 16 61,24026 14,4 4810 16 2,3 15 35
K2115.19410161 AP ECIAE U, FIIRE{LHE I8 10 M16x1,5 16 61,2 4026 14,4 4810 16 2,8 15 35
K2115.1940820 AP ZotAE  QIZ, FIRE HE QI8 8 M20 20 71 5030 18 6 12 20 2,3 20 60
K2115.1941020 AP Z0AEI 2, FIREILUE Q2 10 M20 20 71 5030 18 6 12 20 2,8 20 60
K2115.1941220 AP ECIAEI  US, FIREILHE QI 12 M20 20 71 5030 18 6 12 20 3 20 60
K2115.19408201 AP ECtAE 9IS, FIREH HE gig 8 M20x1,5 20 71 5030 18 6 12 20 2,3 20 60
K2115.19410201 AP Z0IAEI I8, FIREI LIE 912 10 M20x1,5 20 71 5030 18 6 12 20 2,8 20 60
K2115.19412201 AP ZoAEI U2, FIRE{HE 912 12 M20x1,5 20 71 5030 18 6 12 20 3 20 60
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/2



